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Supplement to
ON A CLASS OF ELLIPTIC CURVES WITH RANK AT MOST 2

H. E. ROSE

We list below data for the elliptic curve
Cp: v =22+pz

for each ‘G-prime’ p less than 50000. e give, for each curve in this range, the value of the
L—function at 1 and the order S of the Shafarevich-Tate group III as predicted by the Birch and
Swinnerton-Dyer conjecture, if the rank is zero. If the rank = 2, we give the two values of r and s
from which the generators of the Mordell-\Weil group can easily be constructed using (6), and the
value of 7 = wa/w, of the Mordell-Weil lattice. where a + ib is written a, b (see last paragraph).

Prime Rank 1 point. rank 2 only 11 point. rank 2 only T
73 2 1,1 3,1 -0.42136, 3.70975
89 2 3.1 7.1 0.25820, 4.79915
113 2 3.1 51  0.41331, 4.43636
233 2 11.3 51  0.48210, 3.58534
257 0 L(1) = 7.40907. S = 16

281 2 3.1 47,7 -0.22809, 11.81452
337 2 35.9 5.1 -0.05956, 6.23399
353 2 13.3 7.1 -0.44182,4.20334
577 0 L(1) =6.05276,.5S =16

593 2 3.1 5.1  0.48071, 5.03903
601 2 83, 17 7,1 -0.33842, 5.45261
617 2 195, 43 5.1 -0.19632, 5.61055
881 2 3.1 157, 17 -0.48756, 18.15133
937 2 5.3 45,7 -0.42973.11.62307
1033 2 13.3 85,7  0.06569, 7.58315
1049 2 3.1 7,1 -0.49569, 5.99058
1097 0 L(1)=5.15461.5 =16

1153 2 1.1 9.1 -0.40743, 6.18935
1193 2 47.9 11,1 0.45560, 4.46677
1201 0 L(1) =5.03920.5 = 16

1217 0 L(1) =5.02255,5 = 16

1249 2 1.3 7.1 -0.49338.4.91196
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